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   ´    
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   



  





    

  
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



 

 

 

    



    

  

  

  

  























   

 



 

4

8  

 

 

 

 

 

 

 

 



 

1       1 

8       8 

A 4 2

32 cm2 32 16  2 2 16 cm2 

2 3 2  
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A B 6 4 = 1.5 cm

1.5 = 1 + 0.5 2  

2 2 4 = 0.5 cm 

2 28 = 7 cm 7 = 4 + 2 + 1 3

6 4 = 1.5 = 1 + 0.5 A 

 

 

 

 

 

 

 

 

 

 

B 0.5, 1, 2, 4 2 2  

15 ,1,2,4,8  

0.5, 1, 2, 4  
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3+1    =  3     



 

4 ( ) 

     

  

    


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
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      
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BSQ PRC  

BS : SQ = PR : RC 2 : SQ = 1.6 : 2 SQ = 2.5 cm  
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PQFG, BFGC, BCPQ, BQF, CGP 5  

X  

( Q-BFIH) = BH BF QH 3 = 2.5 4 2 3 =  

    ( P-CGJK) = CK CG PK 3 = 1.6 4 2 3 = 

( PKJ-QHI) = (PK KJ 2) HK = (2 4 2) 3.9 =15.6  26    cm2 

 

 

 

 

 

 

 

 

 

 

6 8 4 = 192cm2 165    cm2 
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        

  



  

  

  



   

    

    

    

 

[12, 34] = 1+2+ +11+12+34 = (1+12) 12 2 + 34 = 112 

              [112, 56] = 1+2+ +112+56 = (1+112) 112 2+56 = 6384 

[ A,B ] = 1+2+ +A+B = (1+A) A 2 + B = 2018 (1+A) A 2 2018

A = 60 1830 A = 61 1891 A=62 1953 A = 63 2016  

B A = 63 B = 2  

[1, 0] = 1, [1, 1] = 2, [2 , 0] = 3, [ 2, 1 ] = 4, [2, 2] = 5, [3, 0] = 6, [63, 0] = 2016, [63, 1] = 2017, 

[63, 2] = 2018  
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（ａ） 図 2 からわかることを，次の（ア）～（エ）の中から 1 つ選び，記号で答えな

さい。 

 

（ア） 電流が常に電圧に比例している。 

（イ） 電流が電圧に反比例している。 

（ウ） ２［ボルト］の電圧を加えても，電流は流れない。 

（エ） 電圧を１［ボルト］から２［ボルト］に増やしたときの電流の増加量より

も，２［ボルト］から３［ボルト］に増やしたときの増加量の方が小さい。 

（ｂ） 下線部について，その電圧は何［ボルト］ですか。グラフから読み取って，小

数第 1 位まで答えなさい。ただし，LED 電球は電流が流れると発光します。 

 

 



 

回転軸の 1 秒間あたりの回転数［回転/秒］ 10 20 30 40 

LED 電球に加わる電圧        ［ボルト］ 0.9 1.8 2.7 3.6 

 

 

 

 

 

 

 

 

図４ 

 

 

回転軸の円周

前輪の円周



（ａ） 表からわかることを，次の（ア）～（エ）の中から 1 つ選び，記号で答えなさ

い。 

 

（ア） LED 電球に加わる電圧は，回転軸の 1 秒間あたりの回転数に比例する。 

（イ） LED 電球に加わる電圧は，回転軸の 1 秒間あたりの回転数に反比例する。 

（ウ） 回転軸の 1 秒間あたりの回転数が 2 倍になると，LED 電球に加わる電圧は

4 倍になる。 

（エ） 回転軸の 1 秒間あたりの回転数が 2 倍になると，LED 電球に加わる電圧は

0.25 倍になる。 

 

 

（ｂ） LED 電球が発光し始めるためには，小型発電機の回転軸が 1 秒間あたり何回転

すればよいですか。ただし，答えが割り切れない場合は，小数第２位を四捨五入

して，小数第 1 位まで答えなさい。 

 

 

（ｃ） 小型発電機の回転軸が 1 秒間あたり 25 回転するとき，自転車の速さは秒速何

m ですか。ただし，自転車の前輪の厚さは考えないものとします。 

 

 

（ｄ） この自転車を一定の速さで走らせるとき，LED 電球が発光しているのはどの場

合ですか。次の（ア）～（オ）の中からすべて選び，記号で答えなさい。 

 

（ア） 50 m を 10 秒で走らせる場合 

（イ） 150 m を 40 秒で走らせる場合 

（ウ） 2 km を 16 分 20 秒で走らせる場合 

（エ） 5 km を 30 分で走らせる場合 

（オ） 60 km を 3 時間で走らせる場合 
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94 80
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knock-knock jokes riddles

 

 

 

 

 

 



 

 

Language Arts

 

 

 

show and tell

 

 

 

 

 

 

 

 



 

 

 

 

Think about when you were in a new environment (class, school, country, etc.), and write an essay to 

show what it was like. How did the experience influence the way you think? Be sure to include details to 

show what this experience means to you. 

 

 

I lived in the USA for a few years. The culture, the environment, and the way people think were 

completely different there. My experience in the States has changed the way I think in a very positive way. 

In Japan, most people hide their true feelings because sometimes it may be considered rude if you don’t. I 

was one of them when I entered an American school. Some of my classmates came to talk to me, but I was 

so shy and scared I almost ignored them at first. Then, one of them kindly asked me what the problem 

was. He was also a student from abroad and told me that he totally understood what I was going through. 

He even encouraged me to express myself loud and clear because nobody would bite me. Actually, many 

people in the States were friendly and listened to me with smiles on their faces no matter what I said. I 

learned that honesty is the best policy and it gave me the guts to share my feelings as they were. This was 

a once in a life time important experience to me. 

 

 

 

 

I think the time I spent in a new environment was fun. I went to England when I was in the third grade. 

My English was not good, so I had trouble making new friends. I was surprised that there were a lot of 

people from different countries. It took me a while, but gradually I was able to open up and communicate 

with gestures. My classmates were very kind and they became my first friends outside of my hometown. 

This experience taught me that you don’t have to be good at the language to make friends. My best friend 

was Tom. He was really a unique boy. He was independent and sure of himself. We argued a lot because 

he was often stubborn. Even when many people agreed with me, he wasn’t afraid of telling me I was wrong, 

or his ideas were better. He told me that I had to be more aggressive in things. We had a lot of fun together 

and I learned many lessons from him. Moving to England was a really good experience and I will never 

forget about the good times I had there. 



 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 







 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 


